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Base set of included waves

* Uniform background

e J=0:
* gy’ NOTE: The use of K'K
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit recmite
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PWA Results for J = 0,1 and background
Isobar ﬁt roculte
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PWA Results for J = 0,1 and background
Isobar ﬁt roculte
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PWA Results for J = 0,1 and background
Isobar ﬁt roculte
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PWA Results for J = 0,1 and background
Angular fit results
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4 ular fit results
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E852 mass-independent PWA of KKx

In low-mass KKz region below 1.375 GeV included [1]:

\Ijns“ [1] Phys. Lett. B 516 (2001) 264-272
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E852 mass-independent PWA of KKx

In low-mass KKz region below 1.375 GeV included [1]:
e J=0
* a,980)r

\Ijns“ [1] Phys. Lett. B 516 (2001) 264-272
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E852 mass-independent PWA of KKx

In low-mass KKz region below 1.375 GeV included [1]:
e J=0

* a,980)r
e J=I

* a,980)r
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E852 mass-independent PWA of KKx

In low-mass KKz region below 1.375 GeV included [1]:
e J=0

a,(980)x
e J=I

a,(980)x

e The K"K was turned off for mass(KKx) < 1.375

\I/As“ [1] Phys. Lett. B 516 (2001) 264-272
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E852 mass-independent PWA of KKx

In low-mass KKz region below 1.375 GeV included [1]:
e J=0

a,(980)x
e J=I

a,(980)x

e The K"K was turned off for mass(KKx) < 1.375

* No phase space KKx included (but explicitly not ruled out)

\I/As“ [1] Phys. Lett. B 516 (2001) 264-272
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:

\vns“ [2] arXiv:2209.11175v1
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:
« J=0

* (KK)S-waven'

* (K7)p ek

\vns“ [2] arXiv:2209.11175v1
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:
« J=0
* (KK)S-waven'
* (K7)p ek
e J=1
* a,980)r,

\vns“ [2] arXiv:2209.11175v1
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:
« J=0

* (KK)S-waven'

* (K7)p ek
e J=1

* a,980)r,

i where (KK)q .. represents the combination

\vns“ [2] arXiv:2209.11175v1
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:

e J=0
* (KK) S-wavelt

¢ (K n )P-waveK
. J=1

* a,980)r,
where (KK)q .. represents the combination

. a,(980)%
* (KK)S-phspﬂ:

\vns“ [2] arXiv:2209.11175v1
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:

e J=0
* (KK) S-wavelt

¢ (K n )P-waveK
o J=1

* a,)980)r,
where (KK)q .. represents the combination
* a,)980)x
* (KK)S-phspﬂ:

and (K 7)p._,,,.K represents a combination of
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:

e J=0
* (KK) S-wavelt

¢ (K n )P-waveK
o J=1

. a,(980)r,

where (KK)q .. represents the combination
* a,)980)x
* (KK)S-phspﬂ:

and (K 7)p._,,,.K represents a combination of

. K*892)K
* (K T )P-phspK
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BESIII mass-independent PWA of KKx

In low mass region between 1.24 and 1.36 GeV, BESIII included [2]:
« J=0
* (KK)S-waven.

¢ (K 4 )P-waveK
. J=1

. a,(980)r,

where (KK)q .. represents the combination
* a,)980)x
* (KK)S-phspﬂ:

and (K 7)p._,,,.K represents a combination of
| » K*@892)K
* (K 77:)P-phsp]<

BESIII includes K'K and phase-spacé
KKz contributions at low mass

28
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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Fit with (KK)_,,,,% and (KK)p_,,, 7 J=0 waves included
Isobar fit results
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included

Yie

120

100

80

60

40

20

=10

Isobar fit

3

B J=0
J=0:Phase space KK [(KK)_r +
B J=0: K*K
J=0: a,n
J=1
@ Background

—_
o
=]

o]
=

bHIII|III‘III|III|III

Candidates / 0.01

= KKn® (Data)

a Full Fit

= a,® J=0 (Fit)
i a,n° J=1 (Fit)

| Mass(K*7?)

Candidates / 0.002

v

(=]

o

I.7I _I_q 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
0.8 0.9 1.0 1.1 1.2
Mass( kppi0 )
- N = KK®
o MaSS(K+K )n ::(u Fit
- = a,® J=0 (Fit)
- a,n° J=1 (Fit)
- +jf+++ :]; !
3 t =1
E_-n- ‘‘‘‘‘‘‘‘‘ T Il it .+ ﬂim
8 1.02 1.04 1.06 1.08 1.10
Mass( kpkm )




* Fit with (KK)j_,,,,7 and (KK)p_,,,,,7 J=0 waves included
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Fit with (KK)_,,,,% and (KK)p_,,, 7 J=0 waves included
Angular fit results
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